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10.

INSTRUCTIONS )

This question booklet contains 50 (fifty)
Multiple Choice Questions (MCQ).

Each question has four (4) answer choices,
out of which only one is correct.

Select the correct answer and darken the
appropriate circle completely in OMR sheet
with Blue/Black ball point pen only. Darken
only one circle and darkening two or more
circles shall lead to rejection of the answer.
Partial / incomplete darkened circles shall
not be evaluated by the computer.

The OMR answer sheets shall be evaluated
by the computer.

In case the OMR sheet is stained, torn,
crumpled, mutilated, distorted, not properly
printed in any manner or otherwise appears
defective, the same shall be returned imme-
diately to the invigilator and another correct
OMR sheet be obtained.

Verify carefully whether the No. of printed
pages, No. of questions, Set code etc. printed
on the cover page matches with this booklet.
In case of any defect/discrepancy, exchange
the defective one immediately to obtain
another correct question booklet.

Write your Roll No. in the space provided. Do
not write/scribble anything on any part of this
booklet except the space provided for doing
the rough work.

Discipline must be maintained in the
examination hall as per the provisions of the
Odisha Conduct of Examination Act, 1988.
No candidate shall be allowed to leave the
examination hall before the examination is
over. The candidates must hand over the OMR
sheet to the invigilator when instructed. )
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Each question has four answer choices. Choose the correct one and
darken the appropriate circle in the OMR Sheet completely
with Blue/Black ball point pen.
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Each question carries 1 (one) mark.
QNg 99 A & |
Answer all questions.

Time : 1 Hour Full Marks : 50

@ — oalel (6alGw @RIR)
Section—A (SCP)

1. NaCl(aq) + AgNO,(aq) — AgClI(s) + NaNO,(aq)
2l 699 gRIQ QAN gegel ?
(A) Q638 (B) <giae
(C) aqelad (D) @RQE-TRIQE]
NaCl(aq) + AgNO,(aq)  AgCl(s) + NaNO,(aq)

What type of chemical reaction is this ?

(A) Combination (B) Displacement

(C) Precipitation (D) Oxidation-Reduction
2. QORYG 609 el /RIS SIa68IST 26 ?

(A) SRQR AL P YoFY (B) gIQoe qiIqQ @2x

(C) QISRQ GIgIg YRR (D) QIR YA FR6q Fgdl

Which one of the following processes/reactions is endothermic ?
(A) Reaction of quicklime with water

(B) Combustion of natural gas

(C
(D

) Thermal decomposition of marble
) Mixing of a concentrated acid with water
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3. BN RQEGER FlIg 69R% agg ?

(A) QA ANCTS (B) 6QI@9¢ 6@
(C) 6QI@Ae IEFN6RS (D) 6L AIREYS
Which one of the following salts is acidic ?
(A) Copper sulphate (B) Sodium chloride
(C) Sodium carbonate (D) Potassium nitrate
4. 691296 ANETFQ FR1L QA pH 6963 ?
(A) 8 (B) 7
(C) 6 (D) 0(9%)
What is the pH of the aqueous solution of sodium sulphate ?
(A) 8 (B) 7
(C) 6 (D) Zero
5. IQYeea 9oeald1Rcl 9 2L 6a96 OR ?
(A) Na<Cu<Mg<Au (B) Cu<Mg<Na<Au
(C) Mg<Cu<Au<Na (D) Au<Cu<Mg<Na
Which one of the orders is correct according to the reactivity series of
metals ?
(A) Na<Cu<Mg<Au (B) Cu<Mg<Na<Au
(C) Mg<Cu<Au<Na (D) Au<Cu<Mg<Na
6. 0F AFARYRR F1IQ QNG I6HICOTR ?
(A) CaO (B) MgO
(C) ALQO, (D) CuO
Which one of the following oxides is amphoteric ?
(A) CaO (B) MgO
(C) ALQO, (D) CuO
7. 62006Q @99 JAIgIPR FRIER AR FHR, FINIYS IR G OFIA R
dada ?
(A) CH, (B) CiH,,
(C) C6H12 (D) C6H14

In which one, straight chain, branched chain and cyclyclic chain among
the carbon atoms are possible ?

(A) CH, (B) CiH,,

(C) CH,, (D) CeH,,

AR-16/P-1/GSC 3 P.T.O.
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8. — — @&8genN?
(A) 2een (B) 2R629Q
(C) @6oIn (D) RIRIANR 1AQ
What is indicatedby — — ?
(A) Alcohol (B) Aldehyde
(C) Ketone (D) Carboxylic acid

9. @IAGER ARIAGNES GG IR URFTINIRR 62R2U6R G2IR 6212 ?
(A) QIR (B) 4= aIg
(C) Qg (D) @gig
From which one gold ornaments are generally made in India ?
(A) Amalgam (B) Pure metal
(C) Metalloid (D) Alloy

10. 21yee 9dyig AQENQ JUIeaEa A0Q 0Rg JEM 6(1RagRaa 6AINBIER @
JoQee Jonde 29 ¢

(A) QP Qlem (B) <4 clem
(C) QIR Q6L (D) 69163 3aa g9 @ 2l

What change is observed in the valency of elements while moving down
the groups in the modern periodic table ?

(A) Increases (B) Decreases

(C) Remainssame (D) There is no definite trend

AR-16/P-1/GSC 4 Contd.
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11. 60 dIg ATRY FIRER ¢ AL YT @8 R6RIER G4 796 96Q ?

(A) Zn (B) Mg
(C) Cu (D) Ca
Which one of the metals displaces hydrogen gas from highly dilute nitric
acid ?
(A) Zn (B) Mg
(C) Cu (D) Ca
12. FORYS 602 I8 AR 6QAR YIIR URAR @I ?
(A) NaCl (B) ZnS
(C) CuCO, (D) ALO,,2H,0
For which one of the following ores, roasting method is used ?
(A) NaCl (B) ZnS
(C) CuCO, (D) ALO,,2H,0

13. 6906 0K ?
(A) 290R @ddea 9o ALQ 2IRIAT 8 AR 99
(B) 290R @dd6q g6 A9Q! Q139 8 AH 94
(C) @@ 9dd6q goen 499! Q199 B AR 29
(D) QR @dd6a goan 4941 2RI 8 AR g9
Which one is correct ?
(A) Inaconcave mirror the image is always virtual and erect
(B) Inaconcave mirror the image is always real and erect
(C) Inaconvex mirror the image is always real and erect
(D) Inaconvex mirror the image is always virtual and erect

14. @ QAR 6RAYA 618 ool 20 cm 626M N2IQ AIGIR 666 629 ?

(A) +5.0D (B) +0.5D

(C) +0.05D (D) —0.05D

If the focal length of a convex lens is 20 cm, what will be its power ?
(A) +5.0D (B) +0.5D

(C) +0.05D (D) —0.05D

AR-16/P-1/GSC 5 P.T.O.
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15. 6090 QYRIRIQ QJQ &°d ?

(A) 6dim (B) <99l 629
(C) Qo (D) eaIaq
Which one is a part of a spherical mirror ?
(A) Pole (B) Centre of curvature
(C) Aperture (D) Focus
16. 9RD2I6Q IR IFHNQ TR 6910 U9 63604 TR S@6M, 269 6REFIT AEARGRR
JoIe @9 °?
(A) 6.25x 108 (B) 1.6 x 10"
(C) 6.023 x 10% (D) 6.023 x 10%*

How many electrons flow through a circuit when there is one ampere of
current in it for one second ?

(A) 6.25x 1018 (B) 1.6 x 101
(C) 6.023 x 102 (D) 6.023 x 10

17. @ J0QI216Q QR JA6 AIR 6960 QRF| 918 JRIEe 626M QYR 69100 AReIIE
Q@ HLQ 689 ?
(A) 1 (B) 4
(C) 60 (D) 240
How much charge in coulomb should flow for two minutes in a conductor
to have a current of two ampere init ?
(A) 1 (B) 4
(C) 60 (D) 240

18. QRAQIQ JRYA6Q MTYR! Y@ TG ARG AL QRAIGER RIT geee eiag
6Q2016Q YA A°6KIG REM JERUREQ YQIR 69199 URCSIER @ ALRR 689 ?
(A) ARG 0@ (B) 2l 689
(C) QQél 6aQ (D) QI8gé 619
If a heater coil connected in house wiring is cut into two equal halves and

each is reconnected at the same point, then what would be the change in
the quantity of electric currentin each ?

(A) Shall remain unchanged (B) Shall be halved
(C) Shallbetwotimes (D) Shall be fourtimes

AR-16/P-1/GSC 6 Contd.
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19. Q39 gGaRIQ a9 69R% ?
(A) 69 (B) 6a-Geq
(C) eaImec/6a (D) 6¢/d9Q

Which one is the unit of specific resistance ?

(A) Ohm (B) Ohm-metre

(C) Volt/Ohm (D) Ohm/Metre
20. QQIR-QARIL 6JAE @4 2IGTIQ YA EM ?

(A) 6o (B) 649963

(C) 6RIRS! (D) IaI6e

Who discovered electro-magnetic induction ?

(A) Davy (B) Oersted
(C) Volta (D) Faraday
21. Q6@ NLILQ QIS TQYQ 91BQ 602 NARER AL ?
(A) @ERGIS (B) @6RIQI0-Q4
(C) @/as (D) gm/agl
The electrical energy used in houses is measured in which units ?
(A) kilo Watt (B) kilo Watt-hour
(C) Watt/hour (D) joule/hour

22. QIQIFIER QUL 629! UICAIRA 681 VAW A2 AXRE ?
(A) gold (B) gooes
(C) Qgad (D) ga1de
Which phenomenon of light is related to twinkling of stars ?
(A) refraction (B) reflection
(C) scattering (D) dispersion

AR-16/P-1/GSC 7 P.T.O.
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23. JRIgd IR 6910Q1 I IY AF QR J6Rd QAN IR JoTe IF
@64 1 92IQ @8l @28 ?

(A) QULAERIL JEAQS! (B) Gamd|ie
(C) d6ANq gGAQE (D) @leRIeq ga1de

The path of sun light entering through a small hole into a room filled with
smoke is seen distinctly. What is it called ?

(A) Atmospheric refraction (B) Tyndal effect
(C) Refraction of light (D) Dispersion of light
24. 6Q96 9YQ TRQI8A] YIRARIE ?

(A) IR (B) wiQ

(C) PII (D) WQ

Which one does not indicate electrical potential difference ?

(A) R (B) wWiQ

(C) PII (D) WQ

25. 100 W 333 43 QAR 6909 5 ¢! 6n¢iN YRIA6a aRen Yga F196Q 6ale
6@60 QG YQIQ 9@ TG 699 ?

(A) 20 (B) 40
(C) 60 (D) 200

How many units of electric energy will be consumed in the month of
April when 4 bulbs of 100 W each shall glow for 5 hours a day

simultaneously ?
(A) 20 (B) 40
(C) 60 (D) 200

AR-16/P-1/GSC 8 Contd.
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SET :

¢ - dalgl (R1e @RIL)
Section-B (SCL)

6QQ doIQ QY d919g QYL QGEQ ALY KEQ ?

(A) 69041 (B) Q&

(C) 692 (D) dIgQIQ
Which type of food does help to keep the body warm ?

(A) Carbohydrates (B) Proteins

(C) Fats (D) Minerals
629G ZICAINCYITAA F1Q ?

(A) Q9% QuIeqll (B) Q19200 6d<Ie
(C) wusgdall (D) QIQeseael
Which is a photosynthetic organism ?

(A) Sulphur bacteria (B) Cyanobacteria

(C) Rafflesia (D) Plasmodium
RIS JRUIER 6RRG ZIERREYIS 98 A0Q F6Q ?

(A) ATP+NADPH (B) NADP*+ADP
(C) CO,+H,0 (D) NH,+O,

Which does make the assimilatory power in light reaction ?

(A) ATP+NADPH (B) NADP*+ADP
(C) CO,+H,0 (D) NH,+O,
AR-16/P-1/GSC 9
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29. 1953 AdQI6q ARG e 2RIQ IR 600 FRIFS 6RI6eR YA

AIRIAER ?
(A) Q99 ER (B) 69R0R 6QR8R
(C) <. NG, QRN (D) 2R 6899

Who was the scientist awarded nobel prize in 1953 for his discovery of
citric acid cycle ?

(A) Robert Hill (B) Malvin Calvin

(C) F. F.Blackman (D) HansKrebs
30. 609 gaIedIg 69416Q QIgRI QI QIgt 6RIRAIN ?

(A) QAU @ge (B) ARGR A9eR

(C) qasaiRdq (D) QKGR 27 IR

Due to which process does cramp occur in muscles ?

(A) Alcoholic fermentation (B) Citric acid cycle

(C) Gilycolysis (D) Lactic acid fermentation
31. 696 9@ AARIR At ?

(A) 9aa (B) 4laaa

(C) <oedm (D) QEATR!

Which is a lymphoid organ ?

(A) Pharynx (B) Trachea

(C) Tonsil (D) Larynx

AR-16/P-1/GSC 10 Contd.



32. 609 8169 656 ABINR D9 ?

33.

34.

35.

(A) Qg

(C) 6

(B)
(D)

SET :

A8y

@2

In which animal does double circulation occur ?

(A) Fish
(C) Frog

6RIPQ 6Q0R ATFA FIF1 Q'Ql ?

(A) QERRJIRT

(C) eadeall

What is the excretory organ of leech ?

(A) Contractile vacuole

(C) Nephridia

Jo6A @ QUEQ @I A6V @M ?

(A) 2R9 2l6a

(C) QWA QABAIQ

Who did experiments on reflex action ?
(A) William Harvey

(C) William Bowmann

609 TIRESILAETR IRIIAR ?

(A) QARETINNARR

(C) @R

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

Which phytohormone is a growth retardant ?

(A) Cytokinin
(C) Gibberrelin

AR-16/P-1/GSC
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(B)
(D)

Man

Earthworm

SETRSAL

Qo

6 \

Flame cell

Kidney

QN YL

QAWK J. AINERW

Carl Landsteiner

Ivan P. Pavlov

QAR

PR

Auxin

Ethylene
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36. QF IQ° g4 AN Yo QIal QA ARG ?
(A) QREAIARNIAY (B) ag ¢da
(C) ¢ ags (D) a8 oga
The vision and acoustic related reflexes are regulated by which one ?
(A) Hypothalamus (B) Forebrain
(C) Midbrain (D) Hind brain
37. €]96Q 699 2A6FIAQ AUTE AN FEe @6Q ?
(A) 6aREIR (B) 61069 60IFI6@I651TR
(C) An@at (D) @aae
Which hormone in the urine does confirm pregnancy ?

(A) Melatonin (B) Chorionic Gonadotropic
(C) Releasing (D) Adrenaline

38. @9, YAIQ 6 67 9% 9IS 629 2 YAl FIART 9@ ?

(A) IR (B) €49

(C) o4 (D) 1208

Through which organ do tortoises, crocodiles and whales etc. respire ?
(A) Gills (B) Lungs

(C) Skin (D) Spiracle

39. 6% RAISYIEQR 2IYFR I ?
(A) 6RY69ICR (B) ai@oR
(C) @eqion (D) QIQAEAITR
In which substage does synapsis occur ?

(A) Leptotene (B) Pachytene
(C) Diplotene (D) Zygotene

AR-16/P-1/GSC 12 Contd.



SET :

40. 699 91960 QAL ANYGIR G ALNYYR QIR ?

(A) Qdd

(C) aow

(B)
(D)

25N

g

In which organism are both isogamy and anisogamy seen ?

(A) Man
(C) Fungi

41. g9F YQUTC 6210 @'6 Q& @9 ?

(B)
(D)

(A) Q9@ (B)
(C) @8 (D)
What is formed due to division of zygote ?
(A) Gamete (B)
(C) Embryo (D)
42. Q6RIQY 6RIAMI 602G ?
(A) @ERIRS (B)
(C) ¢ (D)
Which one is the best coal ?
(A) Lignite (B)
(C) Peat (D)
43. 6906 P @RS AT 3Q A ?
(A) 226 (B)
(C) Qg2 (D)
Which is a source of nonrenewable energy ?
(A) Hydroenergy (B)
(C) Wind energy (D)

AR-16/P-1/GSC 13
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00699

Qe

Zoospore
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L
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Bituminous

Anthracite

6U6GIMAL]
6dl0E@

Petroleum

Solar energy

P.T.O.



SET: |A

44. 9Qd AQC 60Q |ITQ I8 ?

(A) GQ9 I (B) 9a@ eI

(C) Q99 e (D) 2gele @IG

Which type of animal is golden Langur ?

(A) Extinct species (B) Rare species

(C) Endangered species (D) Vulnerable species

45. 6299 IR 926 A1AR 62197l Q6L ?
(A) 21Q19< (B) Q6ggQie
(C) QAWIQ A6QUSR (D) Qaie

Which one is not a mega river dam project ?

(A) Hirakud (B) Bisweswaraya
(C) Sardar Sarobar (D) Naraj
46. 6R9Q 63 ATV ?
(A) QIae 8o aald (B) Qlo@
(C) «I0 (D) QLR Al

Which one is biodegradable ?

(A) Plastic made material (B) Mercury
(C) Wood (D) Chemical material
47. Qa1 9aQq 6d1ad@ gOIRG 8 RAG 621R ALINISg 6TFAIIQ @ & RIAN ?
(A) 2INEI6aI (B) 2Qqee
(C) 96 (D) edlegQia
What is called, solar energy being reflected and radiated back to space
from earth ?
(A) Albedo (B) Pyrolysis
(C) Propellor (D) Solarflux

AR-16/P-1/GSC 14 Contd.
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48. REAIRE AR AQQIL, C1I°AIS Q-26Q UG 0.1 QIERR 6@ FReIN, 6662
QEI6RUFT AAEQ FTQ AR 6R6G 689 ?

(A) 1R (B) 10 @uiem@
(C) 100 @yIenIQ (D) 1000 Q4I6RIR

As per Lindemann’s study, if the carnivore-2 gets 0.1 calories of energy,
what will be the amount of energy at the herbivore level ?

(A) 1 calorie (B) 10 calories
(C) 100 calories (D) 1000 calories

49. 6593 699 gOIR16R 689 A1 f@ @ a2 ?

(A) 29909 (B) axyja aIee
(C) co1aad (D) QuIQIRQE

In which process is bioenergy not available from biomaterials ?
(A) Pyrolysis (B) Destructive distillation
(C) Liquefaction (D) Gasification
50. 1979 adQI0Iq A9 @r% JRAIR 694 Al AIAY KgR ?
(A) Q62 QAN 8F 62IAIRT (B) @99
(C) QauRIe QTG (D) 659 QeI doge

Since 1979, which organisation has been working for creation of green
belt ?

(A) Bombay Natural History Society
(B) Kalpabrukhya

(C) National Wildlife Committee

(D) National Biodiversity Board

AR-16/P-1/GSC 15 P.T.O.
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